ActiveObject

ZF f1 = FactorylnstrumentationToLog('f1")

Factory logging fl.start_at(f1.outer_state)
f2 = FactorylnstrumentationToLog('f2")

[F ‘ f2.start_at(f2.inner_state)

FactoryIlnstrumentationToLog

live spy
live trace

trace_callback(self, trace)
spy_callback(self, spy)

start_at(self, ...)
a outer_state

entry /

self.scribble("hello from outer_state")
Hook /

self.scribble("run some code, but don't transition™)
exit /

self.scribble("exiting the outer_state")

4 inner_state

entry /
self.scribble("hello from inner_state")

exit /
self.scribble("exiting inner_state")

.

‘ chart.scribble('init’)

.

Reset / self.scribble("resetting the chart")




